3 Al

A

M- B SR(B) - HRAY - BE S aro e s
= 48,123,902 37,333,084 10,790,818
= 5,910,659
& 21,347,000
= 122,847
= 2,090,815
= 18,652,581
H(=2ELX Y/ 2,046,588 1,756,890 289,698
MESH oA 255,398 297,940 AN42 542
MEDIR SAL 294 57,500 57,500 0
206 M=l 57,500 57,500 0
01 MHZ I 57,500 57,500 0
O2Z T+ 70,000 & *80JH*10S 56,000
OdtA7¢Y 30,000& *50& 1,500
28 MREX ¥ E=AM 2 93,510 130,640 237,130
206 M= tl 78,510 64,140 14,370
01 MHZ 4l 78,510 64,140 14,370
oger dtzs 14,800
—g8= 17,0003 *400H 6,800
—Oo+E DI 20,000& *400H 8,000
OANUWH Jtes =d 30,800
—#= 30,0002 *4007H 12,000
—otE DI 35,000& *400H 14,000
—&H 1,200& *4,000m 4,800
O& X4l HED| 59,4003 = 1504 8,910
Odtzs= 2,400,000 104 24,000
401 AlSH L2 THY| 15,000 66,500 A51,500
01 Al &l 15,000 66,500 251,500
Oonzs &n 1,500,000& *10S 15,000
AEHE 23 J|I23H 83,388 81,000 2,388
201 YEr2gy| 75,388 68,420 6,968
01 At 2teltl 20,160 23,430 A3,270
OYRA |5 60,000 1502 X|*70/100 6,300
Okzze g8= 500,000& *43| 2,000
OvMzEF== 10,000 & *12JH Atx 12 1,440
OngYd 228 ¢ 112,500 *6IH x 122 8,100
Oczael doe =g
50,000 6% x43] 1,200
O H&aZ2=2X 7,000 x8H »203| 1,120
02 E=2gHl 55,228 44,990 10,238
oktzdEsz 1 1,500& *600= *22] 1,800
OEZEHE = 350, 000 +4CH 1,400
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SN HAEDED
HE: AU (FELXANL/NALEAI)
o9l 2Ol MEBEE o2 CrE
_ _ _ Muo
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Hnz2
OERFHIA AR ®IIQS 250,008 128 3,000
OT2HYl BUl SF0  1,78121+3,000 £ *40H 21,372
OANEFUI(2A]) SXHl 5,000,000 *40H 20,000
OJ2S AAMOAIAY SHANSE
5,50021+116CH * 122 7,656
202 04t 8,000 8,000 0
01 2UH0I 8] 8,000 8,000 0
O 901t 8,000,0002! 8,000
sozng ael 21,000 28,800 AT7,800
401 Al EHIL 2O HI 21,000 28,800 AT7,800
01 Al&H| 21,000 28,800 A7,800
OB LUAA &X 7,000, 00024 +3H 2 21,000
ZoI= R ALY 1,791,190 1,458,950 332,240
FOIHAAY (212, FYE) 1,601,190 1,458,950 142,240
401 A& HIZL 2 CH | 1,601,190 1,458,950 142,240
01 Al&t| 1,589,074 1,449,419 139,655
OATS ZQIM X 400,000,000 14! 400,000
OBHZOtE 2% SXI2A 1,400,009 * 50m 70,000
SLESS 267,387
—OR AR ~ 4ZDE ANDI|BA
25,7182 * 150m * 4m 15,431
—2H ATHY T AR BHIZA
658,8002 * 15m 9,882
YIS VY2 LTI
49,4602 * 200n *3m 29,676
—82 22T Y2 ZUIBA
370,950 * 40m 14,833
—AFO| BIEOF OF2 G| DA
19,7832 * 350m *4n 27,697
— QU 012 MYZ SHFTAL 494,6002+50n 24,730
~1E 012 242 IMRIITA
98,9202 * 200m 19,784
T 02 92 SHAITA
741,908 * 40m 29,676
—LEONS 92 ¥ FAZEXSM
1,483,800 * 20m 29,676
—HS0IS o2 QMRIIBA
79,1352 * 400m 31,654
—2XEHX IE U NS HIBA
1,700,000 * 1] 1,700
—XE Y AFEA ST
247,3009 * 20 4,946
—2Xg IS B2 23
141,3148 * 70m 9,802
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SN HAEDED
HE: AU (FELXANL /N ALEAI)
Sl FUSHAY (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
—NE ERX EX L =UHBA
1,236,508 * 8n 9,892
~SR0I2 9 OAE IMRITA
98,9202 * 250m 24,730
—GIEDIS 2r2 ¥ Gt4T HHIBA
1978402 * 150m 29,676
—Z2l0te 92 HW4E L EFIA
98,9202 * 200m 19,784
~E9 JI2S HXBA 2,500,0002 * 17| 2,500
Ok ot 129,050
—MEDISO B2 SXIBA
309, 12521 * 80m 24,730
—EHU OISO BIAZ HXIBA
309, 12521 * 80m 24,730
—ZA0I2YD SR SXITA
23,6502 * 200m 24,730
—2T O0t2 o OtAR THTBA
98,9202 * 250m 24,730
—20) 012 o2 OtAR TIHBA
98,9202 * 250m 24,730
~FE B2 RS MXBA
1,700,008 * 27| 3,400
22 A HBE HXBA
2,000,0008 * 1] 2,000
oo 104,855
—DH NFA FY2 AHEXIZA
6,924,4002 * 5m 34,622
— N2 02 0IAE US| TA
98,9202 * 300m 29,676
N 012 BT AXBA
173, 11020 * 200 34,622
~SE0E Ha2 SXBA
18,7001 * 50 5,935
03 Al& 2 ChH] 12,116 9,531 2,585
SLES 2,903
—OHD AE ~ SEDE AN BA
15,600,00020 * 1.08/100 169
—2H ATHY R AR ZHITA
9,990,002/ * 1.08/100 108
~¥HOIS NYR HEHTA
30,000,000%! * 1.08/100 324
—8% 12T W2 ZUISA
15,000,0002 * 1.08/100 162
—APO| BIEOF OF2 G RD| DA
28,000,0009! * 1.08/100 303
~QU 02 TYR HZBA
25,000,000 * 1.08/100 270




FA: A4S
B ALME(IEUX SN/ NHLTAI)
ool FUSRAIY
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
—1S 0t2 oY AMSIIBA
20,000,000& = 1.08/100 216
—&5F OIS o2 SYUEXSA
30,000,000& = 1.08/100 324
~BENS Y Y FXNEEIBM
30,000,000& = 1.08/100 324
~US0r2 o SN2 A
32,000,000& = 1.08/100 346
~2Xg JIYS 4R &3
10,000,000& = 1.08/100 108
~EE Y GFHA LXBA
5,000,000 * 1.08/100 54
—2FS [0S =2 XS A
10,000,000& = 1.08/100 108
—=s02 OtAZEE B A
8,000,000 * 1.08/100 87
(OF =1 2,776
~ASHYUR AR DA Y 0L BB
30,000,000 = 1.08/100 324
—Z0t0t2 ot otA=2 Z&H L St=73H|
S At 40,000,000& = 1.08/100 432
—SHOSAY ez Hy)
35,000,000& = 1.08/100 378
—E3 ¢t HEHIM
20,000,000& = 1.08/100 216
—&H SOtEY otd L EXSA
20,000,000& = 1.08/100 216
—=c| 02 =2 &XI3At
5,000,000& = 1.08/100 54
— &G0l A2 JHESA
20,000,000& = 1.08/100 216
~3H 0t2 0Y LEIIBN
10,000,000& = 1.08/100 108
—=& 0t &2 =2 4X & SHSA
20,000,000& = 1.08/100 216
—5F4 02 o2 MHEEZA
20,000,000& = 1.08/100 216
—CBOlE oY JlCaY 84X U HEED
A 25,000,000& = 1.08/100 270
—RUBL O TETA U WAZ DA
12,000,000& = 1.08/100 130
(OF=Fshu! 2,268
—Q X2 =2 AXI3At
45,000,000& = 1.08/100 486
—8% 2tk L otAZEE L =2
ZHIS A 35,000,000 = 1.08/100 378
=J|= guw & =2 HUISA
20,000,000& = 1.08/100 216




SN HAEDED
HE: AU (FELXANL /N ALEAI)
Sl RO (e @
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gil it o Rz
U M3 2 SHERIZA
20,000,0009! * 1.08/100 216
—5t5 22 =HTA
25,000,0002! * 1.08/100 270
—SHMOIE HYUR OIAR EEZA
25,000,000%! * 1.08/100 270
—R2AOISEI R ¥ ST
20,000,0009! * 1.08/100 216
—ABYY A2 FUIBA
20,000,0009 * 1.08/100 216
O 461 1,674
—GtR OHOIS 912 L BH4E FHIZA
35,000,0008 * 1.08/100 378
—OjoH 2AE AR UMY HXBA
35,000,000%! * 1.08/100 378
—NE EUX £X L =HBAM
0,000,0002 * 1.08/100 108
—SR0I2 212 OtAE IMRIBA
25,000,0002! * 1.08/100 270
—GIEOIS 12 ¥ St FHIZA
30,000,008 * 1.08/100 324
—Z2I0t2 o2 B4R L THBA
20,000,0002! * 1.08/100 216
Ok o 1,350
—AEIOHS O Bi42 SXIZA
25,000,0002! * 1.08/100 270
—EU OISO AR HXIBA
25,000,0002! * 1.08/100 270
—2A0ISYUR ISR AXITA
25,000,000 * 1.08/100 270
—2T O0t2 o OtAR THBA
25,000,0002! * 1.08/100 270
20 012 92 0tAR T BA
25,000,000%! * 1.08/100 270
oo 1,145
—DF A TYZ SHEIBA
35,000,000%! * 1.08/100 378
—AE oY OAR IMRI| TA
30,000,0008 * 1.08/100 324
—NT O GHAT HXIBA
35,000,0008 * 1.08/100 378
~SE 012 42 SXZA
6,000,00020 * 1.08/100 65
2FZE A2 WA 190,000 0 190,000
401 Al 2B 2O HI 190,000 0 190,000
01 Al& ] 188,632 188,632
ORF2AZE WA HMAL
2,095,9112 * 90m 188,632
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e nx mx
Hr 02
140 0 oM

b
=13

Hed

[
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IR N/ KIS L Al

L

> —~

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° - [= Bl e =5 0:”/‘l|_% Lsa
03 AI& 2 0HHI 1,368 0 1,368
ORFUZE UXZ NEAY
190,000,0002 = 0.72/100 1,368
SZAE 2e(+SLNE/EZ) 2,245,359 4,740,313 A2,494,954
& 450,000
& 1,335
= 1,794,024
st 22| 246,825 239,894 6,931
& 1,335
i 245,490
SETA IR 2,225 2,294 269
= 1,335
= 890
101 el d| 2,225 2,294 A69
= 1,335
= 890
04 J|12HHZ22NSEs 2,225 2,294 269
O&= WSETA 2
37,0803 x6H*10= & 2,225
& 1,335
= 890
U H&X Ag 3,200 4,800 A 1,600
303 L&z 3,200 0 3,200
01 Z&3 3,200 0 3,200
O=2FHIE H&X HAS 100,0003 *32F 1L 3,200
HMeEg Mz 90,900 36,600 54,300
206 =l 90,900 36,600 54,300
01 M=l 90,900 36,600 54,300
AU S 13,2002 6,000 79,200
O2ci=0ul 300& +15,0000H 4,500
ONEE M7 (s8YH) 20,000& »360% 7,200
SMAIEZE (OtEdY) &X 22,500 22,500 0
401 AIEHIZ 2OHYI 22,500 22,500 0
01 A& HI 22,500 22,500 0
OQuSHFTAIES(ItEHY) &8X & B
62,5003 *60m*6IH 2 22,500
CZ2EH g 7Y 80,000 120,000 240,000
405 Kt =H| 80,000 120,000 240,000
01 ARt =S HSHI 80,000 120,000 A 40,000
O==2FHl 1tg PY(5E BZEH)
80,000,000+ 1CH 80,000
3 M&Ezd 2 48,000 48,000 0




SN HEADED
M TRASE 2 (28LDNE/Z2)
e orEE T 22t (cte: &
_ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
405 XFAHE SH| 48,000 48,000 0
01 ML 2EF S 48,000 48,000 0
OEH 222 Mas 7Y
4,000,000 *12CH 48,000
Z2E Sxze 1,234,150 919,016 315,134
2 450,000
2 784,150
BT MEMNZ(HI-UE) 700,000 648,000 52,000
2 350,000
= 350,000
401 Al HIY 201 700,000 648,000 52,000
2 350,000
= 350,000
01 Al&H] 454,702 559,340 £ 104,638
OR2Es5a8(UR~UHE)As 2 A8
454,702,0002 * 1.0km 454,702
2 350,000
= 104,702
02 2eldl 242,000 80,470 161,530
OR2E5a8(UR~UHE)As 2 A8
242,000,000 * 1km 242,000
03 Al< 20HH] 3,298 8,190 A4,892
OR2E5a8(UHR~UHE)AB R A8
458,000,000 *x0.72/100 3,298
ANEHHA D2 HUKHEA 84,150 0 84,150
401 Al HIL 201 84,150 0 84,150
01 Al&H] 84,150 0 84,150
OY&ED HUKMRC 2 701,250 *120m 84,150
NPT, SHECZ2)MNES ALY 250,000 0 250,000
401 Al & HI L 201 250,000 0 250,000
01 Al&H| 250,000 0 250,000
SRR MDY B, SAZA
420,0002! *500m 210,000
ORZHLQ MDY B4 22 AALHES
40,000,000 *124 40,000
SIEIT IS 2 FAI23 200,000 0 200,000
2 100,000
= 100,000
401 Al & HIL 201 200,000 0 200,000
2 100,000
= 100,000
01 Al&H| 198,560 0 198,560
OBEIMAS T2 BAI2AZI AN
198,560, 00024 1. 0km 198,560
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S A0
X XH .
S Tt

 —
4
Sl 2

= M . Ctol (5 S AL . HA S HEE = 2}
= 100,000
[ 98,560
03 Al 201 1,440 0 1,440
OSEIMNKE=Z HAI2SALG
200,000,000 *0.72% 1,440
A EAY 764,384 3,581,403 A2,817,019
T AE 298 JI2ZY] 2,000 2,000 0
202 od| 2,000 2,000 0
01 2LHAbI 2,000 2,000 0
OFHHYI 2,000,000 2,000
2 2 SHEEZZ HE 255,000 0 255,000
401 A& HIZ 20 255,000 0 255,000
01 Al & Hl 255,000 0 255,000
O2Z , sHEEZZ T2 HYUEX B4
5,250,000& *20H 105,000
O, sHEZZ MEE 150,000& *1,000m 150,000
g=0t= M=z 4 507,384 469,403 37,981
401 Al HIZ 20 507,384 469,403 37,981
01 Al &l 503,756 466,023 37,733
Og30t2 AT Z IHE 3 AH0.50km)
1,007,512,000& *0. 5km 503,756
03 A& 201 3,628 3,380 248
Og=0ts dAETZ HESAt
503,756,000 *0.72% 3,628
SANL(ZELRGMNL/XNSLE Al 15,670,013 6,223,781 9,446,232
& 14,300,000
= 1,370,013
NS 14,814,000 5,500,000 9,314,000
= 14,300,000
| = 514,000
SFINLEEX 2 L ALS 13,100,000 5,000,000 8,100,000
& 13,100,000
401 Al HIZ 20 13,100,000 5,000,000 8,100,000
& 13,100,000
01 A& HI 12,317,130 4,986,500 7,330,630
ORLe~-G a2t T2 A S AL
1,758, 717& *3,200m 5,627,895
& 5,627,895
OZX~&H2t E2IHE S A 6,825,750 *980m 6,689,235
= 6,689,235
02 Zeldl 752,000 0 752,000
Oa~Ga2 S 2O S At
358,000,000 * 14 358,000




SN HEDED
2 CADHE(BELTNL/XALEAI)

CHel: XTSI (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
2 358,000
OYXI~&H2t S2HEZ A
394,000,000 * 14! 394,000
= 394,000
03 A& 2 0HH 30,870 13,500 17,370
OQA~EHAE T2 Z A
5,642,000,00024 %0.25/100 14,105
2 14,105
OYX~&H2t SRMEZA
6,706,000,00024 *0.25/100 16,765
2 16,765
DXEE AKX SSHEHIALY 1,714,000 500,000 1,214,000
2 1,200,000
= 514,000
401 A& HI L =20 1,714,000 500,000 1,214,000
2 1,200,000
= 514,000
01 Al&H] 1,707,829 500,000 1,207,829
ORFSAMK ZEHEHAY
1,067,393 *1,600m 1,707,829
2 1,200,000
= 507,829
03 A& 201 6,171 0 6,171
ORFSAMK ZEEHAY
1,714,000,000 0. 36/100 6,171
TAHEEZ 856,013 723,781 132,232
CAAHE 29 J|1=&H| 116,020 73,781 42,239
201 L2 AH 94,020 71,781 22,239
01 At2 22| 71,320 30,333 40,987
O Bta=2H| 7,000,000 * 14! 7,000
OIHEARE 2P
100, 000! «(19H «53| +3H x 123 ) 13, 100
Oo=zzelHeE s v2202
1,320,000 *20 A +53] 13,200
OALUZAIZH SSMI HE
1,000 2,500 *13] 2,500
OZAIHERHBAIAE(UPIS) SXES 35,520
—ATER0N YL 222
91,225,150 *12%x*11/12%1 .1 11,039
—GISA R 135,000,000 x10%*11/12%1. 1 13,613
=[] 134,720,000 %8%*11/12%1. 1 10,868
02 222 2,700 41,448 N38,748
OUstol= HAST Al o3| (A3 H])
2,000,000 %13 2,000
OHMHBAHI T HLZAIHY X3 A3|H|(H3
Bl) 700,000 *13] 700
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A& WS

B AN (REL X )

A SAHEE

/X<

o4 0

LT Al)

_ _ SIEN
M- B8 S2(3H) - HRAY - BaS arey il ot o =2
03 A2 EHI 20,000 0 20,000
OHEZAl =M 8ZXZF =8
20,000,000& =12l 20,000
202 (44l 2,000 2,000 0
01 =2 LHA bl 2,000 2,000 0
OZAH 2,000,000& 2,000
207 A 2IHEH| 20,000 0 20,000
01 =4 20,000 0 20,000
OF AW HASTA TAF HFRAIY =&
20,000,000& *14! 20,000
782 SAJIRY HUIAY 139,993 200,000 260,007
401 A& HIZ 2 CHHI 139,993 200,000 260,007
01 A& HI 138,992 198,560 A59,568
OARD TAHEANL HHl W 24
1,389,920 »100m 138,992
03 A€ =TI 1,001 1,440 A439
OARR TAHEANL HHl W 22
138,992,000 *0.72/100 1,001
SHAH(L)0IE SEMHESA 600,000 0 600,000
401 Al EHIL 2OHY| 600,000 0 600,000
01 A& HI 600,000 0 600,000
O (AL )DIE S2ME S A
505,050 & *198m*6m 600,000
Y NH (+SLNS/HELS - ERSIIE) 3,718,176 5,902,615 ,184,439
= 122,847
= 92,580
= 3,502,749
= EXNNE &= 140,621 181,755 241,134
IXNEAN =E 101,629 149,029 AA47,400
101 21 244| 101,629 115,597 13,968
04 JIZtHIZ22XRSES 101,629 115,597 A 13,968
OSHTENLERRAAIY 89,659
—Jl2s 37,0803 180 «10H 66,744
— == 37,080 +36+10H 13,349
—=0A3z 80,093,000 *4.5% 3,605
—2A2EE 80,093,000& *2.665% 2,135
—LOoEIRAYEE 2,135,000 *6.55% 140
—1=22E 80,093,000& *1.3% 1,042
—MTHEH 80,093,000& *3. 3% 2,644
OXgHEsg=xE22 R Y 8,970
—Jl=2 37,080 180 «1H 6,675
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SA: HEDED
A WEMHE NHA(+=SLUE/HEWNS - 2FSIIE
el 2Y O ENNE B (crel@a
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
—=xt=g 37,0803 +36L »1H 1,335
—=0A3 8,010,000& *4.5% 361
222 8,010,000& *2.665% 214
—LOoEIRAUEE 214,000& *6.55% 15
—-NE2H 105
—&THEE 8,010,000 *3.3% 265
Ot 3 1=l 150,000 10 »2H 3,000
EHFEN 29 JIE2Z Y| 38,992 32,726 6,266
201 Ler2gH| 38,992 32,726 6,266
01 At 2teltl 13,900 13,518 382
OunsE SN Sl 7,000 x20H x253] 3,500
OSYEEX B2 SN 42E 79
50,0003 *3Z*20H 3,000
O28=8X DKM 72 100&*105+2,700& 2,700
OXtsxt & A4l HSEASENARO
100&*105+2,000& 2,000
OXdEHSg=NE 2G (MR, HEAERS)
2,700,000 =14 2,700
02 3324l 25,092 19,208 5,884
OREAFNEE #II23
10,0003 #4501 A+ 1201 & 5,400
OXt=xt gl SEE 2HEFY 4,092
—EE*H 2203 x5,000& 1,100
—S|SH 1,720 *1,100& 1,892
—XsX HIIFAM HEST HHE 2852
2203 x5,000& 1,100
OXEHESEF:INE 33
1,300,000 x12& 15,600
SroH 2x 2,842,995 3,302,237 A459,242
= 122,847
& 92,580
[ 2,627,568
NMUHsHEHAEX EHdEAE A 518,907 515,632 3,275
= 39,603
& 92,580
= 386,724
307 SI2H0| & 518,907 515,632 3,275
= 39,603
= 92,580
= 386,724
00 2HAHEXS 518,907 515,632 3,275
OANUHsHEHAEIEHEAEA
129,726, 7503 x4:= | 518,907
= 39,603
& 92,580

|
no
|




SN A4DsH
M DS HH(+SLNS/HERE - SFSIIEY
el 2 X CEREE
- _ _ ME
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| = 386,724
NUSHEHATHEX A 166,488 166, 114 374
= 83,244
2 83,244
307 I2tol & 166,488 166,114 374
&2 83,244
2 83,244
09 2+LABE2 166,488 166,114 374
ONUSHEHATHEX 22
41,622, 0008 *4=2 D] 166,488
2 83,244
2 83,244
SHEHA 2A243 AUZA 89 12,600 12,000 600
207 IR oH | 12,600 12,000 600
01 e g o 12,600 12,000 600
OSHEHA SAEAZ AXZA B8Y
210,000&1 *60JH = & *13] 12,600
24U SIANEXZ NS 145,000 2,145,000 0
307 @120l & 145,000 2,145,000 0
09 2+gAHBx2 145,000 2,145,000 0
O+ SALXZ N3
536,250,000 *4:2 | 145,000
& 2ol ¥ LR 27,000 1,286,413 1,259,413
SLETE FA2el 15,000 15,000 0
401 Al 2 HI LS THHI 15,000 15,000 0
01 Al&H| 15,000 15,000 0
ORFZIZFINE 2% 5,000,000 *33 15,000
ANEH SYFXE gotdel ¥ MIjoE e 9,000 0 9,000
201 Ler2 | 9,000 0 9,000
01 AtRZreld| 9,000 0 9,000
OX&H Zatelti® 3500008 * 1221004 4,200
OX&H ®IlrE e s
4000002 * 1200 2 * 174 & 4,800
coty RAES 3,000 0 3,000
201 L2 3.000 0 3,000
01 AtRZreld 3,000 0 3,000
OCCTV RXI2+ 22 200,000@ * 157 & 3.000
SoMALE &1 & e 707,560 1,132,210 424,650
WEHHANLS X 646,360 631,232 15,128
401 Al2HI L LTI 646,360 631,232 15,128
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SN HEDED
i DEHN HH(LSUDE/HERS - SBSIIEH
Sl DEQFAILS X L e (el & 2
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
01 Al& ] 642,000 627,280 14,720
OUBE ¥ FLS M B4
1,000, 0002 ¥707H 4 70,000
ONSAHHEXNT U ALY &XI/24
500,000 *4007H 2 200,000
ORETM o 24 2,000,0002 *100km 200,000
ODINEUX A& L &4 200,000 *300m 60,000
OHASAF d&(RH) ¥ 24 112,000
— A& (D) 11,000,000 +8S 88,000
—Ba 3,000, 0002 +85 24,000
03 Al& 2 THEl 4,360 3,952 408
OMSAHE AIHS &X  692,000,0002 +0.63% 4,360
ns2el 2% J1=AY| 16,200 14,978 1,222
201 QBr2gy| 8,200 7,978 222
01 At 22| bl 8,200 7,978 202
OzstA 28227
100,000 * 10JH 2 *2CH 2,000
OZagH ARE7Y 583,330 *351 %20} 3,500
OMABEHAMS DAAM S0
1002 %975 %3, 0000H 2,700
202 048 8,000 7,000 1,000
01 20l ] 8,000 7,000 1,000
OZ0it| 8,000, 0002 8,000
DEFIIZHE 2B 15,000 0 15,000
207 AR 15,000 0 15,000
01 A RE ] 15,000 0 15,000
OnSAHEI 222 8
15,000,000 14! 15,000
DEAN0ISHOISEN &+ 15,000 300,000 285,000
207 A PN 15,000 0 15,000
01 AR 15,000 0 15,000
ONEAROEH SHHALE 8Y
15,000,0002 14! 15,000
NYHEDE I 2 15,000 0 15,000
207 AR 15,000 0 15,000
01 HRE Y| 15,000 0 15,000
ONYHEDE JI=HE 42 29
15,000, 0002 *14! 15,000
CEE-FICELBEDEES ) 11,066,233 7,118,453 3,947,780
= 5,909,659
= 1,617,000
2 3,539,574
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1,500,000
1,500,000
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3,392,800

401 AIEHIZ S OHYI
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7,500,000
4,500,000
1,500,000
1,500,000
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3,392,800

01 Al Hl

Ootedd +=olia

i}

A IJHE A
1,494,600,000& #1.0km

O
0z
B
B

ol s Xl W& ALY
3,202,714,285& 0. 7km

ODItHE =olatsXIoHe AL
1,743,700,000& *1.0km

OEUAE ey ALY
3,985,600, 000& *0.5km

03 Al 201
OJted =alatsil HEAY
1,500,000,000& *0.36/100
A NS AL
2,250,000,000& *0.36/100
FS X HE ALY
1,750,000,000& *0.36/100
OEU& ngold dulAg
2,000,000,000% *0.36/100

O4ZH Loh4

e

OnltHE ol

0>

H W H M H A

M

7,473,000

1,494,600
900,000
300,000
294,600

2,241,900
,350,000
450,000
441,900

—_

—_

, 743,700
,050,000
350,000
343,700

—_

—_

,992,800

,200,000
400,000
392,800

27,000

—_

5,400

8,100

6,300

7,200
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18,000

3,383,800

9,000
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49,000
49,000

86,000

12,000
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01 Al&H] 98,000 86,000 12,000
@) ESPIP=PAPY:] 408, 333 x240km 98,000
[ 49,000
= 49,000
AGHE |Xl2e 12,000 4,489 7,511
401 A& HI L =20 12,000 4,489 7,511
01 Al&H] 12,000 4,489 7,511
OAGHE S22l 2,000,000 601 S & 12,000
S22l 29 J|=2& 14,615 13,840 775
201 LEL2AH| 12,615 11,840 775
01 At 224 10,480 10,372 108
OBIHCHHEX B HE 2 SXSS
70,0002 =104 700
OABREDNQ(ZEIEH AREE)
100,000 1200 & 1,200
ouxz 8,580
— 5t AH FHHIYXZ(0.2m)
440,000 x2U x6IH S ™ 5,280
— oA AY Y LX2(0.7m)
550,000 x 1L+ S S 3,300
02 222 2,135 1,468 667
OZZ2QZLHA 2,135
—SIEAEE 2 HERIAMEE DM &5
(£21) 1,750 x370E #23] 1,295
—HIE JHA HIR2S
70,0002 x1JH A * 122 840
202 O4H| 2,000 2,000 0
01 2U0ddl 2,000 2,000 0
Z | 2,000,000 2,000
XYt J1=2H2 48 136,000 0 136,000
[= 68,000
= 68,000
401 A& H 2L 20| 136,000 0 136,000
[= 68,000
= 68,000
01 Al&H] 136,000 0 136,000
OUsd steI=2Haesead
45,333,333 3. 0Km 136,000
[= 68,000
= 68,000
272 SHE A 103,800 60,000 43,800
401 Al HI L 201 103,800 60,000 43,800
01 Al&H] 103,800 60,000 43,800
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By ot d FU(IEUXANL/STR)
ot

SHel: GFE2tel (&9 HM
A -3 -H2A(SH) - HEAMY - BES O AFH glga_":‘g Hos
OEUA MMz SAEZ ALY
10,0002 *3,000m 30,000
OSAA HA=IM 1,229,999% x60m 73,800
St EHIALY 2,819,318 2,533,924 285,394
= 1,409,659
= 1,409,659
401 AIEHIL 2HYI 2,819,318 2,533,924 285,394
= 1,409,659
= 1,409,659
01 Al£H] 2,809, 168 2,524,801 284,367
O2xctEEHIAS 1,276,894 ,545% +2 ., 2km 2,809, 168
= 1,409,659
i 1,399,509
03 Al 20| 10, 150 9,123 1,027
O2xctEEHBIAS 2,819,318,000& *0.36/100 10,150
A2 FR=JAAMY 382,500 313,000 69,500
401 Al EHIL L THHI 382,500 313,000 69,500
01 A& 378,908 310,085 68,823
Oaxnl =eiEa X& 50,000,000& =14 50,000
OoR=Fs 86,554
—Sa SAE A= AXIS A 445,140 «50m 22,257
— A0S Y GaE UGS XIS
474,800 * 25m 11,870
—NE HE2 A3 M 257,190 *100m 25,719
—0otZ AGHE A=E ST A
494,600 * 40m 19,784
—=d0tE A=3AM 230,800& * 30m 6,924
Oogdd 84,082
—=0 AGHE A=IA 412,166& * 60m 24,730
—&= AYE MY SUEH EXSA
123,650 * 200m 24,730
— 2ot HZ ASHEMY AXSA
173,110& = 200m 34,622
OXaH 49,460
—&Jt Us=2 A0d A4
118,704 = 250m 29,676
—0& ADIEZS M & wg AX3At
329,733& * 60m 19,784
Oetd ™ 89,028
—Z0I0t= Y AGHE BAF 423,9423 * 70m 29,676
—UHE0t=E A0t &I AM
370,950 * 80m 29,676
—SEOSS2Y otd AFSAH(EA)
741,900 * 40m 29,676
OoRdd 19,784
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cHel: stE e (9l &2
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SN EB -GS - MBAY - BES 0 & 24 e HRE2

—mot B4 A5HH AEZA
197,84021 * 100m 19,784
03 Al 2 ChHl 3,592 2,915 677
oR=xg 946
—GN FNE A SXTA
22,500,000 * 1.08/100 243
—UOISY AR ST SITA
12,000,002 * 1.08/100 30
— KB BB AETA
26,000,008 * 1.08/100 281
—OIB AGHE HE 24T
20,000,008 * 1.08/100 216
—2H02 4ETA
7,000,000% * 1.08/100 76
Os e 918
—S0 A5HR AEBA
25,000,000 * 1.08/100 270
—NT AYHE MY STEH LXSM
25,000,000 * 1.08/100 270
—Sot IB AGHENY AXIBA
35,000,008 * 1.08/100 378
O 4ot 540
—E0 S2 A5HE A0
30,000,008 * 1.08/100 304
—OI™ ADIEB MY L DY HXIA
20,000,0002! * 1.08/100 216
Oora s 972
—20I0HSY AGHE TAH
30,000,000 * 1.08/100 324
—HZ0I2Y A5HE AETAF
30,000,000 * 1.08/100 324
—SEOISE Y G E AETAH(HA)
30,000,008 * 1.08/100 324
oL 216
~ Tt DA AstE AEZA
20,000,008 * 1.08/100 216
S& ASIIE HE(SYHSSN/5Y - 55) 13,346,549 11,561,872 1,784,677
2 1,000
z 6,597,000
= 379,900
2 6,368,649
SZ02 SEHLAL 3,870,000 4,577,000 A707,000
z 2,709,000
= 270,900
2 890, 100
HRURY SEISEENLAY 1,254,000 1,607,000 353,000
z 878,000
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= 288,000
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= 88,000
2 288,000
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OHRUAY SEOSTEHLAL
254,000,000 * 12 1,254,000
3 878,000
= 88,000
2 288,000
USKP =202 MY 616,000 0 616,000
3 431,000
= 42,900
2 142,100
403 X+ X SRS KH 0] & 616,000 0 616,000
3 431,000
= 42,900
2 142,100
02 271 2HS Ofl CH BHCH 8 AF 21 B 616,000 0 616,000
ONSAA SENSSENLAY
616,000,002 * 124 o 616,000
3 431,000
= 42,900
2 142,100
SESNAY SENS ZHMLAL 826,000 2,108,000 A1,277,000
3 578,000
= 58,000
2 190,000
403 X+ X SRS KH 0] & 826,000 2,103,000 A1,277,000
3 578,000
= 58,000
2 190,000
02 271 2HS Ol CH BHCH & AF 21 b 826,000 2,108,000 A1,277,000
ORESNAY SENSSEMLAY
26,000, 0002 12 826,000
3 578,000
= 58,000
2 190,000
HEHY SE0S ZSHL A 1,174,000 400,000 774,000
=l 822,000
= 82,000
2 270,000
403 X+ X SRS XH 0] & 1,174,000 400,000 774,000
3 822,000
= 82,000
2 270,000
02 271 2HS Ofl CH BHCH &4 AF 21 b 1,174,000 400,000 774,000
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O=0tRel EI1eHE|
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M HY O]
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03 Al 20HH]
O=s0t22

mt
S
T
0
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401,400,000& *0.72/100

O

ne
S
e
0
==

266,600,000 %0.72/100

663,689

399,009
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25,860
24,940

4,811

2,891

1,920

404,566
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259,
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,877

M HY O]

278,000
194,000
42,000
42,000

277,000
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401 AIEHIZ S THYI

M H O]

158,000
110,000
24,000
24,000

157,000

,000

01 A& H]
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M HY OR

03 Al 2CHH]

156,870

156,870

110,000
24,000
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B =E ASI|E HE(SUHSAL/EY - BE)
SRl A JIBHE | (S :®2)
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
SEEEEEEET
156,900,000 *0.72/100 1,130
402 S12HXH201 ™ 120,000 120,000 0
= 84,000
= 18,000
= 18,000
02 QI2HCHEE AL I 120,000 120,000 0
ONNBARE BB
94,500, 000& *1.26984km 120,000
= 84,000
= 18,000
= 18,000
HEAEC HOSIEZEAY 3,264,000 1,700,000 1,564,000
= 2,176,000
= 1,088,000
403 XXM S K201 M 3,264,000 1,200,000 2,064,000
= 2,176,000
= 1,088,000
02 SISO CHStCHH AF S I 3,264,000 1,200,000 2,064,000
OMSAEe HOISFZLEAS
3,264,000,0003 x1H 3,264,000
= 2,176,000
i 1,088,000
SHE M3 Y| 965,000 0 965,000
= 675,000
= 290,000
401 Al HI L 2 ThH 965,000 0 965,000
z 675,000
= 290,000
01 Al &l 958,926 0 958,926
O=Z=MEZHUIAIY  958,926,000& * 14 958,926
& 675,000
= 283,926
03 Al 201 b 6,074 0 6,074
OsZ=MedEHIAIY 964,000,000 *0.63/100 6,074
=S HF A AEHZ A 1,000 600 400
= 1,000
401 AIEHIZ 20 1,000 600 400
= 1,000
03 AI& 201l 1,000 600 400
O=S2 & MEIEAL E5EX Z I
200,000& 54 1,000
= 1,000
SEEs e 651,975 861,920 A 209,945
= 308,000
= 343,975
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E: mE ASIIE HE(SYNYSN/5Y - 52)
ool sEga (9l &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o HRs2
222 SN(HEDBHLS) 125,000 125,000 0
301 et azg 30,000 30,000 0
12 J|Et2 a3 30,000 30,000 0
OS82 U Y2BHII2 N
26,5953 x941 123 30,000
401 A& Bl 2 CHYI 95,000 95,000 0
01 A& HI 95,000 95,000 0
SUBHE U YL
1,000,0002 * 1302 * 1/2 65,000
O==cl|Hl 25 ==l 3,000, 000& 104 2 30,000
JIgtx2d 293 JI=23Hl 6,500 6,920 AN420
201 gEt2Ad| 4,500 4,920 AN420
02 23244l 4,500 4,920 A420
O=J| =2ltl 30,000& *150CH 4,500
202 (44l 2,000 2,000 0
01 =2 A b 2,000 2,000 0
O HAH 2,000,000& 2,000
S8 HE2E Xot=SETAH(=ZZ AL 9,725 0 9,725
201 ZEt2FH| 9,725 0 9,725
01 AtR2tel 9,725 0 9,725
Osig 28 FII(3d) +EAA
76,5704 * 1273 9,725
It Ul THHUHBZ=E(Ha=X E=) 70,750 0 70,750
401 A& HIZ 2 CHYI 70,750 0 70,750
01 A& HI 70,750 0 70,750
O2H ABX 2424
2,143,939% = 1ct4 333 70,750
SESHME S 440,000 730,000 2290,000
& 308,000
= 132,000
401 Al&HIL 2 THH| 440,000 730,000 290,000
= 308,000
= 132,000
01 A& HI 436,832 725,401 A 288,569
OsSEsAMBEL(VINY)
218,416,000& *23 436,832
& 308,000
= 128,832
03 Al 201l 3,168 4,599 A 1,431
OsEsgddeEs 440,000,000& *0.72/100 3,168
=2 ¥ 2lAd E5 3,648,074 3,476,602 171,472
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_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
Fog GHAY(S2Y 22AI4) 3,648,074 3,476,602 171,472
401 A& H L2 THY| 3,648,074 3,476,602 71,472
01 Al& gl 3,614,145 3,452,400 161,745
OARS FYUW XA 380,000,0002 14! 380,000
Os2 JIZ M2 E4+3A
20,955,202 * 5IHXI P 104,776
SEES 585,430
—BUHYES 2220 SXBA
989,20021 * 50m 49,460
—OHY BHIR 842 SX3A
34,5072 * 110 14,798
—NFU0IS oA 52 ERTA
39,5672 * 300m * 3n 35,611
—otEY LB SZEIIA
9,566 * 200m * 3n 23,740
—UE HEZ 42 2 52 T
74,1882 * 120m * 3n 26,708
—2H AT HAZ L SREFTA
65,8802 * 50m * 3n 9,882
—AE B4R BETA 50,3528 * 500m 29,676
— KB 2B S2EITAM
90,0162 * 80m * 3n 21,604
—3¥ ABIES B4E ST
106,830 * 230 24,571
=S AY SZEITAL 98,9208 = 350n 34,622
~—HE MEER S2EIBA
118,703 * 300m 35,611
—FS 25 842 2XZM
79,1352 * 450m 35,611
-2 ¥Eel 52 THIA
28,5022 * 130m 16,717
—R% DILX 842 X3
18,7002 * 200 23,740
— KB PBES 842 ST
105,84220 * 280 29,636
—Jt SO AR BHIBA
263, 1102 * 60m 15,787
2™ FEHHIIS 842 SXTA
118,700 * 100m 11,870
—8% A0S 52 ZTIFBM
98,9162 * 60m 5,935
—GHEH NS S42 SXTA
48,3802 * 150 22,257
—&o| DI2Y 52 ZHTA
58,2602 * 50 7,913
—5C ASS W42 BHIZA
75,1762 * 130m 9,773
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98,916& * 200m 19,784
—gite] s2EEIA 98,920& * 300m 29,676
—Usel =28 S sTEESA
98,920& * 200m 19,784
— Q402 =2 AXISAt 98,9143 * 70m 6,924
— &0t =2 HXISAF 98,9163 * 60m 5,935
—=308 s2 ZZ3SA 98,910& * 80m 7,913
—JIE0IE S2EEIAM 98,920& * 100m 9,892
(OF - u! 401,611
—5cl OS2 E+2 ZHISA
549,555& * 45m 24,730
—sSAE su &4 EFIA
1,978,400& = 10m 19,784
—=Y% 0tcds =2 SA 98,9208 » 200m 19,784
—01e GEMHE =2 EX3A

48,3802 * 200m 29,676
NS D12 842 SXBM

152, 1842  130m 19,784
—DE TS A2 BXTM

494,60021 * 50m 24,730
—Q4 HBS SRITIIA

18,7002 * 100m 11,870
—SOHH S2EHIA 108,810% + 300m 32,643
~NE SR 42 BA

48,3802 * 100m 14,838
~0E SEME B4R SXIBA

197,84021 = 100m 19,784
—Q 4B 52 THIA

118,700 * 50m 5,935
—2S YEB 52 TIBA

18,7002 * 50m 5,935
—HS YIS W2 SXTA

98,9162 * 60 5,935
—H2 ACES o2 LXZA

98,9158 * 190 18,794
—WE 012 S 842 &XTA

74,1902 * 200m 14,838
~2E 23 SZEHZA 1088102 * 100m 0,881
—28 BB S2LYIA

18,7002 * 100m 11,870
—AE DB SRIFTA

23,6502 * 120 14,838
—3L W 52 ERDA

48,3802 * 100m 14,838
—S0F AKX SREETA

48,3802 * 100m 14,838
—ABHE S2EIBA 98,9182 + 110m 0,881
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